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1 1 - 1 1 - - - - -
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H 23| 53R EE (TON) LT 3 3 3 1 1 1 1 1 1 1
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H29|1, 1—Y/nnxzFL mg/1{0. 124 0.01 i 0.0 Z.om?ﬁ g.omiﬁﬁ 2.01227#& 2.01227#& 0.0 1Al 0.0 1Al 0.0 1Al 0.01 A
1 1 4 4 4 4
- 0.01 0.01 0.39 0.05 0.02 0.02 0.03 0.02 0.02 0.02
H30| 7 L= AR NEDLEW mg/1[0.1LL F 0.04 0.04 0.16 0.02 0.01 0.01 0.02 0.01 0.02 0.01
1 1 12 12 4 4 4 4 4 4
o [NV INARA B A B (PROS) 0.0000584 T [0-0000060.000007 | 0.000006 1~ B B B B B
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7Kl C 28.0 30.5 17.6 17.6 18.8 16.6 20.4 20.4 21.1 19.9
1 1 212 212 243 12 12 12 12 12
32.0 110 51.0 13.0 35.0 39.0 0.0 37.0 1.0 35.0
AT VI JEE mg/1 32.0 41.0 39.0 33.3 32.8 34.3 36.0 33.8 36.8 33.5
1 1 12 12 4 4 4 4 4 4
0.0 2.0 9.0 15.0 5.0 30 6.0 6.0 2.0 5.0
KemREE mg/1 0.0 2.0 3.4 6.3 3.8 1.5 3.5 1.0 1.3 43
1 1 12 12 4 4 4 4 4 4
. e - - BIET |- - - - - - -
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